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Question Id : 92090611953 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good eredit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aireraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline.”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....7

Sub questions

Question Number : 1 Question Id : 92090611954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090647201. 1
92090647202. 2
92090647203. 3
92090647204. 4

Question Number : 2 Question Id : 92090611955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yiven below are two statements :

Statement I :  The full form of NCLAT is National company Low Aviatron
Tribural.
Statement I . Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement 1 is true but Statement I1 is false

(4) Statement [ is false but Statement I is true
Options :
92090647205. 1
92090647206. 2
92090647207. 3
92090647208. 4

Question Number : 3 Question Id : 92090611956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) NCLAT case

{2y DGCA case

(3 Go first case

{4y Al indigo case
Options :
92090647209. 1
92090647210. 2
92090647211. 3
92090647212. 4

Question Number : 4 Question Id : 92090611957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%
(4) 10-25%
Options :

92090647213. 1
92090647214. 2
92090647215. 3
92090647216. 4

Question Number : 5 Question Id : 92090611958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4) To skip the que and go ahead without waiting for one’s turn.

Options :



92090647217. 1
92090647218. 2
92090647219. 3
92090647220. 4

Question Id : 92090611953 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 92090611954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Why airfares already too high could rise even further?

(1)  Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aircraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090647201. 1
92090647202. 2
92090647203. 3
92090647204. 4

Question Number : 2 Question Id : 92090611955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements ¢

Statement I :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 : Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true
Options :
92090647205. 1
92090647206. 2
92090647207. 3
92090647208. 4



Question Number : 3 Question Id : 92090611956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) MNCLAT case

(2) DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090647209. 1
92090647210. 2
92090647211. 3
92090647212. 4

Question Number : 4 Question Id : 92090611957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be
(1) 20-25%
(2) 10-12%
(3 2-3%

(

4} 10-25%

T

Options :

92090647213. 1
92090647214. 2
92090647215. 3
92090647216. 4

Question Number : 5 Question Id : 92090611958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Go First 1s seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1) To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :

92090647217. 1
92090647218. 2
92090647219. 3
92090647220. 4

Sub-Section Number : 2
Sub-Section Id : 920906393
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090611959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4) The monkey has not been teased.

Options :

92090647221. 1
92090647222.2
92090647223. 3
92090647224. 4

Question Number : 6 Question Id : 92090611959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090647221. 1
92090647222. 2
92090647223. 3
92090647224. 4

Question Number : 7 Question Id : 92090611960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090647225. 1
92090647226. 2
92090647227. 3
92090647228. 4

Question Number : 7 Question Id : 92090611960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation

(2) Bad intention

(3 Hair dresser

(4) Full freedom of action
Options :

92090647225. 1
92090647226. 2



92090647227. 3
92090647228. 4

Question Number : 8 Question Id : 92090611961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi _
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090647229. 1
92090647230. 2
92090647231. 3
92090647232. 4

Question Number : 8 Question Id : 92090611961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _  Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090647229. 1
92090647230. 2
92090647231. 3
92090647232. 4

Question Number : 9 Question Id : 92090611962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “1
have completed my work.”

(1) Alok tells, “he completed his work,”

(2)  Alok says that his work 1s completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090647233. 1
92090647234. 2
92090647235. 3
92090647236. 4

Question Number : 9 Question Id : 92090611962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1) Alok tells, “he completed his work,”
(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090647233. 1
92090647234. 2
92090647235. 3
92090647236. 4

Question Number : 10 Question Id : 92090611963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure
(3) Pragmatic (4) Prisoner
Options :

92090647237. 1
92090647238. 2
92090647239. 3



92090647240. 4

Question Number : 10 Question Id : 92090611963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2} Censure
(3) Pragmatic (4) Prisoner
Options :

92090647237. 1
92090647238. 2
92090647239. 3
92090647240. 4

Question Number : 11 Question Id : 92090611964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2, -7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090647241. 1
92090647242. 2
92090647243. 3
92090647244. 4

Question Number : 11 Question Id : 92090611964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2.-7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090647241. 1
92090647242. 2
92090647243. 3
92090647244. 4

Question Number : 12 Question Id : 92090611965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z =35then the value of x is:

(1) 3 (2) 4
(3) 5 4 2
Options :

92090647245. 1
92090647246. 2
92090647247. 3
92090647248. 4

Question Number : 12 Question Id : 92090611965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z=35then the value of x is:

(1) 3 (2) 4
(3) b (4) 2
Options :

92090647245. 1
92090647246. 2
92090647247. 3
92090647248. 4

Question Number : 13 Question Id : 92090611966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is xxfy+xyiy first expression is (x2+y2)
then the second expression will be:

(1) (x-y) (2) (x+y)
(3) (ri—y=) (4)  (x—y+xy)

Options :

92090647249. 1
92090647250. 2
92090647251. 3
92090647252. 4

Question Number : 13 Question Id : 92090611966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is x—xfy+xyZ—y* first expression is (x2+y2)
then the second expression will be:

(1) (x=y) (2) (xH)
(3) (x:-y%) (4)  (x—y+xy)

Options :

92090647249. 1
92090647250. 2
92090647251. 3
92090647252. 4

Question Number : 14 Question Id : 92090611967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; T X
In how many time will a sum of money doubles itself at 7-% simple interest per

i

annum:

(1) 14 yvears 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month
Options :
92090647253. 1
92090647254. 2



92090647255. 3
92090647256. 4

Question Number : 14 Question Id : 92090611967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. : ; | .
In how many time will a sum of money doubles itself at 7-% simple interest per

“

Annum:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month

Options :

92090647253. 1
92090647254. 2
92090647255. 3
92090647256. 4

Question Number : 15 Question Id : 92090611968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(1) Rs.16.000

Options :

92090647257. 1
92090647258. 2
92090647259. 3
92090647260. 4

Question Number : 15 Question Id : 92090611968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(4) Rs.16,000

Options :

92090647257. 1
92090647258. 2
92090647259. 3
92090647260. 4

Question Number : 16 Question Id : 92090611969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCM@NLT2Y65aQ$ 7T*WH#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

@ 3 (Z 2
(3 3 (4) 4
Options :

92090647261. 1
92090647262. 2
92090647263. 3
92090647264. 4

Question Number : 16 Question Id : 92090611969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 (2) 2
(3) 3 (4) 4
Options :

92090647261. 1
92090647262. 2
92090647263. 3



92090647264. 4

Question Number : 17 Question Id : 92090611970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : A college student said, “ everyone desires to buy a personal
computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve gquality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090647265. 1
92090647266. 2
92090647267. 3
92090647268. 4

Question Number : 17 Question Id : 92090611970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090647265. 1
92090647266. 2
92090647267. 3
92090647268. 4

Question Number : 18 Question Id : 92090611971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ37*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

iy 1 (2) 2
(3) 3 (4) 4
Options :

92090647269. 1
92090647270. 2
92090647271. 3
92090647272. 4

Question Number : 18 Question Id : 92090611971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

21 . (2) Z
(3) 3 (4) 4
Options :

92090647269. 1
92090647270. 2
92090647271. 3
92090647272. 4

Question Number : 19 Question Id : 92090611972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 13 (4) 20
Options :

92090647273. 1
92090647274. 2
92090647275. 3
92090647276. 4

Question Number : 19 Question Id : 92090611972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many number of rectangles are there in the following figure?

(1) 10 2) 19
3 18 (4) 20
Options :

92090647273. 1
92090647274. 2
92090647275. 3
92090647276. 4

Question Number : 20 Question Id : 92090611973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090647277. 1
92090647278. 2
92090647279. 3
92090647280. 4

Question Number : 20 Question Id : 92090611973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090647277. 1
92090647278. 2
92090647279. 3



92090647280. 4

Question Number : 21 Question Id : 92090611974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090647281. 1
92090647282. 2
92090647283. 3
92090647284. 4

Question Number : 21 Question Id : 92090611974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthyva (4) e-Nirvana
Options :

92090647281. 1
92090647282. 2
92090647283. 3
92090647284. 4

Question Number : 22 Question Id : 92090611975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :



92090647285. 1
92090647286. 2
92090647287. 3
92090647288. 4

Question Number : 22 Question Id : 92090611975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :

92090647285. 1
92090647286. 2
92090647287. 3
92090647288. 4

Question Number : 23 Question Id : 92090611976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090647289. 1
92090647290. 2
92090647291. 3
92090647292. 4

Question Number : 23 Question Id : 92090611976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :



92090647289. 1
92090647290. 2
92090647291. 3
92090647292. 4

Question Number : 24 Question Id : 92090611977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
collabhoration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090647293. 1
92090647294. 2
92090647295. 3
92090647296. 4

Question Number : 24 Question Id : 92090611977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
eollaboration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090647293. 1
92090647294. 2
92090647295. 3
92090647296. 4

Question Number : 25 Question Id : 92090611978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Quarter erystals used in quarters clock are chemieally: -

(1) Germanium oxide
(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide

Options :

92090647297. 1
92090647298. 2
92090647299. 3
92090647300. 4

Question Number : 25 Question Id : 92090611978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quarter erystals used in quarters clock are chemically: -

(1) Germanium oxide
(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide

Options :

92090647297. 1
92090647298. 2
92090647299. 3
92090647300. 4

Part B: Mass Communication and Journalism

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

920906238
2

Online
Mandatory
75

75

300

Yes

0
1
920906394



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090611979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘grape wine' communication is associated with

(1) Films {2) Advertising
(3) Editing {4) Public Relations
Options :

92090647301. 1
92090647302. 2
92090647303. 3
92090647304. 4

Question Number : 26 Question Id : 92090611979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3y FErER (@Y 934 FRAEYH) Tsa Fafafas § 4 e ddfia @

m = @) fgmE
(3) U (4) 1 Yud
Options :

92090647301. 1
92090647302. 2
92090647303. 3
92090647304. 4

Question Number : 27 Question Id : 92090611980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 a term used to request for delayed publication.

(1) Dead line (2) Exembargo
5)] Embargo (4) Date line
Options :

92090647305. 1



92090647306. 2
92090647307. 3
92090647308. 4

Question Number : 27 Question Id : 92090611980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafaa # 8 & a1 e fdfed yemeE & R srd g van fear e &2

() sifos gag-dm (2) Ygd el e
(3)  rafed I (@) -
Options :

92090647305. 1
92090647306. 2
92090647307. 3
92090647308. 4

Question Number : 28 Question Id : 92090611981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form GIF?

(1) Guide Interchange File
(2) Guide Interchange Format
(3) Google Interchange Format

(4) Graphics Interchange Format

Options :

92090647309. 1
92090647310. 2
92090647311. 3
92090647312. 4

Question Number : 28 Question Id : 92090611981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol 313 U &1 guf 0 747 82

(1) T3S e HBigd (2) Withe Fevas W
(3) TATd Se¥dd wie (4) Wthay Sevs BTde
Options :

92090647309. 1
92090647310. 2
92090647311. 3
92090647312. 4

Question Number : 29 Question Id : 92090611982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Digital India programme started in which vear?

(1) 2014 (2) 2015
(3) 2016 (4y 2017
Options :

92090647313. 1
92090647314. 2
92090647315. 3
92090647316. 4

Question Number : 29 Question Id : 92090611982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feforea Sfga v fore af g% gan un

(1) 2014 (@) 2015
(3) 2016 4 2017
Options :

92090647313. 1
92090647314. 2
92090647315. 3
92090647316. 4

Question Number : 30 Question Id : 92090611983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which film won the Oscar award for the Best Flim category for the year 20237

(1) The Whale
(2) All quiet on the Western Front
(3) Everything Every where All at Once
(4) Elephant Whispers
Options :

92090647317. 1
92090647318. 2
92090647319. 3
92090647320. 4

Question Number : 30 Question Id : 92090611983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafufad & @ fovw fier 3 o 2023 & fore wdfay v Aofi 3 sifes gEesR Sffar 82

(1) T=d (2) 3Id SISE 3 g 9% the
@)  uaRid vafvewm sifa we o (4) Uferhe fewd
Options :

92090647317. 1
92090647318. 2
92090647319. 3
92090647320. 4

Question Number : 31 Question Id : 92090611984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Bitcoin?

(1) Software company (2 Weba.l
(3) RBI manufacturing coins (4) Digital erypto-currency
Options :

92090647321. 1
92090647322. 2
92090647323. 3
92090647324. 4



Question Number : 31 Question Id : 92090611984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fergepTe o gidn 82
(1)  Higedd Sl (2) d€3.0
(3)  SREISHTS AghaafaT dlig-4 4) fefored fep &3t

Options :

92090647321. 1
92090647322. 2
92090647323. 3
92090647324. 4

Question Number : 32 Question Id : 92090611985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List IT ;

List I List IT
(A) First Post (I) Essel group
(B) Wire (II) Network 18
(C) Mint (IITy HT Media
(D) Wion {IVy FIJ

Choose the correct answer from the options given below:

) (A)-(IV), (B)-(ID), (C)-(I1I), (D)-(I)
2)  (A)-ID, (B)-(IV), (C)-(I), (D)-(T)
(3)  (A)-(D. (B)-(ID). (C)-(III), (D)-(IV)
) (A)-(IID), (B)-(II), (C)-(IV), (D)-(D)

Options :

92090647325. 1
92090647326. 2
92090647327. 3
92090647328. 4

Question Number : 32 Question Id : 92090611985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & | gl ) & faeE $if

gl T -l
) W O () O
(B) AR ay “ead 18
 fie any  TEEl Hifgm
(o) dEd (1v) TE S S

2 23U U fasedl 7 9 Ul IR F1 994 S

(1) (A)-(IV), (B)-(), (C)-(1), (D)-(1)
(2) (A)-(11), (B)-(1V), (C)-(1), (D)-(1)
(3) (A)-(1), (B)-(11), (Q)-(N1), (D)-(IV)
(4) (A)-(1H), (B)-(I), (C)-(IV), (D)-(1)

Options :

92090647325. 1
92090647326. 2
92090647327. 3
92090647328. 4

Question Number : 33 Question Id : 92090611986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with List IT :
List [ List II
(A) Robert Wienes (I} Citizen Kane
(B) Sergie Eizentein (I} The Birth of a Nation
(C)  Orson Welles (IIT) The Cabinet of Dr, Caligari
(DY D.W. Griffith (IV) The Battleship of Potemkin

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(ILL), (C)-(IV), (D)-(IL)
(2)  (A)-ILD, (B)-(IV), (C)-(1), (D)-(IT)
(3) (A)-(IV), (B)-(11D), (C)-(T), (D)-(ID)
(4) (A1), (B)-(IV), (C)-(I1I), (D)-(II)

Options :

92090647329. 1
92090647330. 2
92090647331. 3
92090647332. 4



Question Number : 33 Question Id : 92090611986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | & Gy G 1| 1 e Sifeig

- it -
(A) Tc faug n fHResH &
(|) WIS A ay 9 3 TAYH
(€)  SHEA ded () T dbia—e b Sl SRl
(D) . =Y fiftey (V) & Searg e g
+id feu v faeeal & 9§ 95l 3O & 994 Sifve:
(1) (A)-(1), (B)-(I), (C)-(IV), (D)-(1)
(2) (A)-(11), (BY-(IV), (C)-(1), (D)-(11)
(3) (A)-(IV), (B)-(11), {C)-(1), (D)-(I1)
(4) (A)-(1), (B)-(IV), (C)-(1N), (D)-(I1)
Options :

92090647329. 1
92090647330. 2
92090647331. 3
92090647332. 4

Question Number : 34 Question Id : 92090611987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the book titled ‘Men, Media and Messages' ?

(1) Marshall McLuhan {(2) Thomas Friedman
(3) Wilbur Schramm (4) Jurgen Habermas
Options :

92090647333. 1
92090647334. 2
92090647335. 3
92090647336. 4

Question Number : 34 Question Id : 92090611987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T, g 0 A v ywae g fordt 82

() ARid AsqeH (2) 4mEIBEHT
3) fawwam 4) T ey
Options :

92090647333. 1
92090647334. 2
92090647335. 3
92090647336. 4

Question Number : 35 Question Id : 92090611988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

List I List I1
(A) Vividh Bharati (I 1975
(B} Krishi Darshan (Ily 1987
(C) Yuva Vani (IITy 1957
(D) SITE (IV) 1969

Choose the correct answer from the options given below:

(1) (A, (B)-(IID), (C)-(IV), (D)-(D)
(2) (A)-(I1D), (B)-(IV), (C)-(11), (D)-(I)
(3)  (A)-ID), (B)-(IV), (C)-(I1T), (D)-(D)
(4) (A)-(I1D), (B)-(1I), (C)-(IV), (D)-(T)

Options :

92090647337. 1
92090647338. 2
92090647339. 3
92090647340. 4

Question Number : 35 Question Id : 92090611988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | [Ty Y 1 HT e e

(A)
(B)
@
(D)

TgAi-I = -l
fafay yredt (m 1975
P g ) 1967
gaauft (1967
AR (V) 1969

= fau o faeredl A 9 Ul I &1 99 Sifae:

(1
(2)
(3)
(4)

(A)-(I1), (B)-(1), (C)-(1V), (D)-(1)
(A)-(11D), (B)-(IV), (C)-(), (D)-(1)
(A)-(11), (B)-(1V), (C)-(1), (D)-(1)
(AJ-(1), (B)-(I), (C)-(IV), (D)-(1)

Options :

92090647337. 1
92090647338. 2
92090647339. 3
92090647340. 4

Question Number : 36 Question Id : 92090611989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List 11 :
List I
(A) High angle (1)
(B) Low angle (10)
(C) Neutral angle (11T
(D) Wide angle (IV)

List IT
Character looks powerful
Maintains neutrality

Character looks weak

More depth of field

Choose the correct answer from the options given below:

(1) (A)-(III), (B)-(D), (C)-(II), (D)-(IV)

(2) (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV)

(3) (A)-(D). (B)-(I11), (C)-(1I), (D)-(IV)

(4)  (AIV), (B)-(D), (C)-(IL), (D)-(1)
Options :

92090647341. 1
92090647342. 2
92090647343. 3
92090647344. 4



Question Number : 36 Question Id : 92090611989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | 3 1Y G 1 T e $ifen

-l T
(A) 5 T () U (BYEY) HYE EE e
(B) W@ (i  FRUEE SRS TGl 8
(€ o U () O (@HYae]) gad fears adl g
(D) dFs WId (v) & @t i TgE

4 fev o fawed 7 3 9Et I &1 994 Sl

(1 (A)-(1), (B)-(1), (C)-(I), (D)-(IV)
2 (A)-(1), (B)-(11), {C)-(11), (D)-(IV)
(3) (A)-(1), (B)-(111), (C)-(10), (D)-(IV)
4 (A)-(IV), (B)-(1), (C)-(I0), (D)-(NI)

Options :

92090647341. 1

92090647342. 2

92090647343. 3

92090647344. 4

Question Number : 37 Question Id : 92090611990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options is / are correct?

(A) Walt Disney has won the maximum Academy awards

(B) The world’s largest desert is located in Antratica

(C) Eye is the only organ of the body which is fully grown at the time of birth
(D) UN was established in the vear 1944.

Choose the correct answer from the options given below :

(1) (A) & (D) Only
(2) (B) & (D) Only
(3) (A, (B) & (C) Only
(1) (C) & (D) Only

Options :
92090647345. 1



92090647346. 2
92090647347. 3
92090647348. 4

Question Number : 37 Question Id : 92090611990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafaa & & & ayd fase ad @

A e fEorlt A sifiean vered R o §1

B. fay = wad a1 ewd terida o fua B

C. 3 IR &1 UHHHE 371 8 ot 979 & 908 IR qofaa fas R g 21
D. EgE UY H9 B Ra 99 1944 F 1 71 A

e feru o faeedl | € Udl IR &1 9uH S -
(1) &aa A3RD

(2) dd B3RD

(3) dad A B3RC

4) Fdd C3RD

Options :

92090647345. 1
92090647346. 2
92090647347. 3
92090647348. 4

Question Number : 38 Question Id : 92090611991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following option is / are correct?

(A) National Girl Child Day is observed on 24t January
(B) National Seience Day is observed on 28 Fehruary
(C) International Women’s Day in observed on 8% March
()] World Health Day is observed on 8th April

Choose the correct answer from the options given below :

(1)  (A) & (D) Only
(2)  (B),(C) & (D) Only
(3)  (A), (B) & (C) Only
(4)  (B) & (D) Only

Options :

92090647349. 1
92090647350. 2
92090647351. 3
92090647352. 4

Question Number : 38 Question Id : 92090611991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fraffad el § 3 o1 @/ 98 82

A T afereT R faaw 24 SFEd @1 AT ST 81
B. P fagr RRaw 28 wadt &1 v S B

C. 3Ry nfiee feay 8 A &1 H-m Jrdi 2 |

D. fay warey fGad 8 alid &) O Sl B |

412 R o fawedl F 9 w8t 3w @1 9= $ifen

(1) Fad A3MND
(20 4ad B, CIHRD
(3) &ad A BIRC
@) Had BARD

Options :

92090647349. 1
92090647350. 2
92090647351. 3
92090647352. 4



Question Number : 39 Question Id : 92090611992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One iz labelled as Assertion (A) and the other is labelled as

Heason (R).

Aszertion (A) : The National Education Policy 2020 has emphasized on the use of mother-

tongue or local language as medium of instruction till class 5.

Reasons (R) : The National Education Policy 2020 proposes a separate Gender Inclusion

Fund and Special Education zones for disadvantaged regions and groups

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

i4) (A) is false but (R) is true

Options :

92090647353. 1
92090647354. 2
92090647355. 3
92090647356. 4

Question Number : 39 Question Id : 92090611992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



919 1 YA 3T U € UF SWFEYT (Assertion A) & F9  H ffad & o g0 ITF SR
(Reason R}a'TF':f ff;

AHPUT A - AP e AT 2020 H H&T 5 IF ST S AIGH & FY H HIGHTET 3{4dl
R TN & WO W od &3 T gl

BRUIR : Ty fem Aifd 2020 ® T s e (SieR) WA A 3 giaurdfa &=t g
gl & fere fag e oA &1 u=ard fa 7 g

IR HYF & 3fdiw H, 713 Fu 0 fapadl # 8 Jad Iugad I &1 994 Sifog

(1) A SR RTHI Hal 8 3R R, AD! Hel ARSAT &

20  ASRREE G €, dAfb R A S U ARAT G &
(3) AWelg dlbAR USR8

(4) AWEITIE APTRETEE

Options :

92090647353. 1
92090647354. 2
92090647355. 3
92090647356. 4

Question Number : 40 Question Id : 92090611993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct order of the elements of marketing.

(A) Promotion
(B) Product
(C) Place

(D) Price

Choose the correct answer from the options given below :

(1) (D), (B), (A),(C)
(2 (B), (D), (C), A
(3) (B), (C), (A), (D)
(1) (C), (D), (A), (B)

Options :

92090647357. 1
92090647358. 2
92090647359. 3
92090647360. 4



Question Number : 40 Question Id : 92090611993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fauur & g 9l & Fel % H 31 UgaH ST -
A Hadd
B. dJdIg
C. ®H
D. FeH
19 &g e faedl A 9 Hel IR &1 99 S :
(1) D, ABC
(2) B,.D C A
(3) BCAD
4 CDAEB
Options :

92090647357. 1
92090647358. 2
92090647359. 3
92090647360. 4

Question Number : 41 Question Id : 92090611994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct sequence of evolution of models of communication.

(A) Cirular model
(B) Two-step model
(C) Linear model
(I Helical model

Choose the correct answer from the options given below :

(1) (D), (C), (A). (B)
(2) (C), (B), (A), (D)
(3) (A), (B), (C), (D)
(4) (C). (A), (B), (D)

Options :
92090647361. 1



92090647362. 2
92090647363. 3
92090647364. 4

Question Number : 41 Question Id : 92090611994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HaR & Aledl & HAAHTE & Fa! SHH 1 UgdH Diforg|

A Tid Alsd

B. fewmf® Afgd

C. Ydlgdfed

D. eftwd aied

e f3u e fasedl & @ 9! 3R &1 994 Sifon -
() D,CAB

(20 CBAD

(3) ABCD

(4 CABD

Options :

92090647361. 1
92090647362. 2
92090647363. 3
92090647364. 4

Question Number : 42 Question Id : 92090611995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement [ :  Lata Mangeshkar was awarded Bharat Ratna.

Statement I : Dr. C.N.R. Bao was also awarded Bharat Eatna.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement | and Statement I1 are correct

(2) Both Statement | and Statement 11 are incorrect

(3) Statement [ is correct but Statement Il is incorrect

(4) Statement [ is ineorrect but Statement I1 is correct
Options :

92090647365. 1
92090647366. 2
92090647367 3
92090647368. 4

Question Number : 42 Question Id : 92090611995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @ sy fer e &:

HUF | - Tl HIISR BT HRA Td QREHR UeT faar 7 o7

HYF 11 - ST TR, Vd B U ¥ OB WA i o)

TR HYA & ofdla H, - fau 7 et & | w6t It 904 Sifoe

() SR TaE

@) YF SN A S '

(3) Y HA g, Afh YT ST B
@4) Y AR AfF T s HI R

Options :

92090647365. 1
92090647366. 2
92090647367. 3



92090647368. 4

Question Number : 43 Question Id : 92090611996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One Gigabyte is equal to Megabytes.

(1) 2024 (2) 1124

(3) 1024 (4) 1924
Options :

92090647369. 1
92090647370. 2
92090647371. 3
92090647372. 4

Question Number : 43 Question Id : 92090611996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e TiTaTEe fha- InTarEe & a9Ee el 2l

(1) 2024 (2) 1124
(3) 1024 (4) 1924
Options :

92090647369. 1
92090647370. 2
92090647371. 3
92090647372. 4

Question Number : 44 Question Id : 92090611997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Three dimensional area around a microphone from which sound is

transmitted requires a polar pattern.

Statement I1 : Two dimensional area around a microphone also requires a polar

pattern.



Options :

92090647373. 1
92090647374. 2
92090647375. 3
92090647376. 4

Question Number : 44 Question Id : 92090611997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R syERume:
FYF | a3 FE B 91 HISHGHE & IRT SR & B-smandt &3 & fou dier Oed &1
3 gicl &

HUF || : AIZHIBH & GRI SR & fg ran &7 & fore off gier e &1 srawaddr gidl 8|
IR HY $ 3fdld |, 4 fdu U famedl | 9 Hgl Ioid 994 Hifon

() HYIHR IS T

(2) @Y1 3R I SHI A §

(3) DY FA G, Al HYF 11 A B
(4) Y| 3T g, Aleb DY 1| T &

Options :

92090647373. 1
92090647374. 2
92090647375. 3
92090647376. 4

Question Number : 45 Question Id : 92090611998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 an 18-month scheme after completion of a 2-month entrepreneurship
development training.

(1) PM SVA Nidhi Scheme
(2) PM FME Scheme
(3) PM Umeed Mitra Scheme
(4) PM Mitra Scheme
Options :
92090647377. 1

92090647378. 2
92090647379. 3



92090647380. 4

Question Number : 45 Question Id : 92090611998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬂgiﬂﬂﬁﬂﬁﬁﬂﬂﬁﬂ%@@ﬁ%qmmﬁﬁﬁmﬁmqﬁaﬁ

(1) Ul uR @R @A 2) NTUhEUHS @MW
(3) UluH IEE i @i (4) UluH W
Options :

92090647377. 1
92090647378. 2
92090647379. 3
92090647380. 4

Question Number : 46 Question Id : 92090611999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India’s first Bullet Train project will soon connect which two cities?

(1) Hyderabad and Mumbai (2) Ahmedabad and Jammu
(3) Mumbai and Delhi (4) Ahmedabad and Mumbai
Options :

92090647381. 1
92090647382. 2
92090647383. 3
92090647384. 4

Question Number : 46 Question Id : 92090611999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YId @ wud gae o ufvdern e @ g & @ @ 3 9 wedl @ s

(1) e d gag (2) HEHEETE q T
3) Hugd Rl (4) SEHIETE d Has
Options :

92090647381. 1
92090647382. 2



92090647383. 3
92090647384. 4

Question Number : 47 Question Id : 92090612000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Monkey pox is a viral infection 1s which caused by the monkey pox viruses belonging
to the family of ?

(1)  Nipah (2) Corona
(3)  Smallpox (4) Chickenpox
Options :

92090647385. 1
92090647386. 2
92090647387. 3
92090647388. 4

Question Number : 47 Question Id : 92090612000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HepuTe Fafafad & @ few ular @ Hdfda deiuied fawm] gr1 819 aren doHaul 82

(1 fF[uE (2) SRHAE
(3) dAH (4) IS AT
Options :

92090647385. 1
92090647386. 2
92090647387. 3
92090647388. 4

Question Number : 48 Question Id : 92090612001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first major use of Blockchain technology occoured with the creation of
2

(1) Embedded Augmented Reality
(2)  Virtual Reality Graphics.

(3) Bitcoin

(4) 5G technology



Options :

92090647389. 1
92090647390. 2
92090647391. 3
92090647392. 4

Question Number : 48 Question Id : 92090612001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il M 1 0o W I A O @ B =41 % 9l gen

(1)  wfafea dafida gunf 2y amyrdt gurd s
3) faeslza (4) 5ol e
Options :

92090647389. 1
92090647390. 2
92090647391. 3
92090647392. 4

Question Number : 49 Question Id : 92090612002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The flim, ‘Pather Panchali’ was directed by

(1)  Prithvi Raj Kapoor (2) Satyajit Ray
(3) Shyam Benegal (4) Shekar Kapoor
Options :

92090647393. 1
92090647394. 2
92090647395. 3
92090647396. 4

Question Number : 49 Question Id : 92090612002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R e e &1 AR e A 9 feea e ur

(1) g IS ER (2) ol X
(3) OH &N (4) FEI IR

Options :



92090647393. 1
92090647394. 2
92090647395. 3
92090647396. 4

Question Number : 50 Question Id : 92090612003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

are freelance photographers who pursue celebrities aggressively and
persistently, in order to take candid photos of them

(1) Pantomine (2) Vox Pop
(3) Palm Pilot (4) Paparazzi
Options :

92090647397. 1
92090647398. 2
92090647399. 3
92090647400. 4

Question Number : 50 Question Id : 92090612003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d Tdd STUIBR gid ¢ ol Uiks adfeadl & Udd o a1 & g e s U d d
AR 3711 41a1 $d |

(1) eIy @) (2) dfegulg
(3) OfH urwEe (4) IOl
Options :

92090647397. 1
92090647398. 2
92090647399. 3
92090647400. 4

Question Number : 51 Question Id : 92090612004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the Chairman of National Education Policy 20207

(1) Prof Chauhan (2) Arvind Panagariva
(3) Dr. K. Kasturirangan (4) Prof. Jagadish Kumar
Options :

92090647401. 1
92090647402. 2
92090647403. 3
92090647404. 4

Question Number : 51 Question Id : 92090612004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T R ifd 2020 1 ey B 87

(1)  WEIHYR 9EH (2) 3mRfdeg gumrfea
3) o & HEvE (4) TPITFER SRTSIST $HR
Options :

92090647401. 1
92090647402. 2
92090647403. 3
92090647404. 4

Question Number : 52 Question Id : 92090612005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the theme of the World Envirovement Day for the year 20207

(1) Only one Universe (2) Only Clean environment
(3) Only global village (4) Only one Earth
Options :

92090647405. 1
92090647406. 2
92090647407. 3
92090647408. 4

Question Number : 52 Question Id : 92090612005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a 2022 & fere fay Tafavo fGaw =1 fawg-awg = 47

(1) &dd U& e (2) Fad W
(3) &dd dfYe g (4) &dd Ud gl
Options :

92090647405. 1
92090647406. 2
92090647407. 3
92090647408. 4

Question Number : 53 Question Id : 92090612006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Puffery is an ethical issue dealt in

(1) Journalism (2) Public Relations
(3) Cinema (4) Advertising
Options :

92090647409. 1
92090647410. 2
92090647411. 3
92090647412. 4

Question Number : 53 Question Id : 92090612006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arefaafEs fre 3 el defia te e fva &

(1)  TESIET (2) o HUE
@) fEm @) fagmo=
Options :

92090647409. 1
92090647410. 2
92090647411. 3
92090647412. 4



Question Number : 54 Question Id : 92090612007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which High Court of India has used Artificial Intelligence based Chat GPT while
hearing a bail plea in a murder case?

(1) Punjab and Haryana (2) Delhi
(3) Mumbai (4) Hyderabad
Options :

92090647413. 1
92090647414. 2
92090647415. 3
92090647416. 4

Question Number : 54 Question Id : 92090612007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & 64 35 Ay A g1 & U O | 90Hd & ol 31 g $3d 999 $iEg
§fg snurfea Fesiidd @1 udm fa g2

(1) derE 9 gfvamon 2) R
@) HEE (4) TIUEE
Options :

92090647413. 1
92090647414. 2
92090647415. 3
92090647416. 4

Question Number : 55 Question Id : 92090612008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who authored the book ‘Information and Cricis Economy™

(1) Manuel Castells (2) Herbert Schiller
(3) Jurgen Habermas (4) Alvin Toffler
Options :

92090647417. 1
92090647418. 2
92090647419. 3
92090647420. 4



Question Number : 55 Question Id : 92090612008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIHETHYA U3 HIERME IR HHE! Y feaq fordi 82

(1) HF3d drReed 2) gae AR
(3) O geRAN 4) ufead efwReR
Options :

92090647417. 1
92090647418. 2
92090647419. 3
92090647420. 4

Question Number : 56 Question Id : 92090612009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the current CEQ of Online text editing Platform ‘Grammarly™

(1) Rahul Roy Chowdhury
(2) Sundar Pichai

(3 Elon Musk

(4) Ajay Banga

Options :

92090647421. 1
92090647422. 2
92090647423. 3
92090647424. 4

Question Number : 56 Question Id : 92090612009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS UTS HUTeH WWehH IRl & dad™ digsdl i g7

(1) g NG Ared (2 G o=
3) UG A% @) S
Options :

92090647421. 1
92090647422. 2
92090647423. 3



92090647424. 4

Question Number : 57 Question Id : 92090612010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Kargil Vijay Diwas’ is celebrated on which day?

(1) 215t July (2) 21st June
(3 26t June (4) 26th July
Options :

92090647425. 1
92090647426. 2
92090647427. 3
92090647428. 4

Question Number : 57 Question Id : 92090612010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIS o fGaa & fafy w o= s g2

(1) 219arg 2) 2194
3) 2694 4) 26 9%
Options :

92090647425. 1
92090647426. 2
92090647427. 3
92090647428. 4

Question Number : 58 Question Id : 92090612011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled az Assertion (A) and the other is labelled as

Reason (R).

Aszertion (A) : Rupert Murdoch is a Media Baron

Reasons (R) : He is the founder of Cable News Network (CNN)

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 15 true but (R) is false

(4) (A) 1s false but (R) is true

Options :

92090647429. 1
92090647430. 2
92090647431. 3
92090647432. 4

Question Number : 58 Question Id : 92090612011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &1 By 6T U §: UF Sifi@e (Assertion A) & ®9 ¥ ffad § df gUU 99F HRU
(Reason R}%Fﬁ °;

HUFUT A . TG Gold ST Wd & T S g
FRUIR: 9 Fad ol "cdd (H1 U7 ) & SRNE g
TURIGd YA & SHTald H, i (ST 70 fadedi § 9 99 JUgdd JoX I 99 Hifeig

(1)  AJRRGH Tl § 3R R A DI T BT
2) A SRREH Hel g, Al R, A DI Ul ST el §
3) AUEE afbTRuS TR
4 AUSIEIE AlFTIREE
Options :
92090647429. 1
92090647430. 2

92090647431. 3
92090647432. 4




Question Number : 59 Question Id : 92090612012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first Indian to win the Pulitzer Prize?

(1) M.V Kamat (2)  Arum Shourie
(3) Gobind Behari Lal (4) Siddigui Danish
Options :

92090647433. 1
92090647434. 2
92090647435. 3
92090647436. 4

Question Number : 59 Question Id : 92090612012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gftioR RER Sitd- did 9oH YR S 47

(1) TH& $HA (2) S0 I
(3) Tifdg fagRt @@ (4) FR®t =
Options :

92090647433. 1
92090647434. 2
92090647435. 3
92090647436. 4

Question Number : 60 Question Id : 92090612013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known for her contiburation to the field of Photo Journalism?

(1) Aruna Asaf Ali {(2) Homai Vyarawalla
(3) Barkha Dutt (4) Navika Kumar
Options :

92090647437. 1
92090647438. 2
92090647439. 3
92090647440. 4



Question Number : 60 Question Id : 92090612013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it & A3 oM (Ge) el & &3 § 309 9ieH & o 919 &2

(1)  3SUN HHB el (2) THE M@=
(3) SR™EIgd (4) fdPTHAR
Options :

92090647437. 1
92090647438. 2
92090647439. 3
92090647440. 4

Question Number : 61 Question Id : 92090612014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the scholar associated with ‘Reception Theory'?

(1) Stuart Hall (2) Neil Postman
(3) Erving Goffman {(4) Harold Lasswell
Options :

92090647441. 1
92090647442. 2
92090647443. 3
92090647444. 4

Question Number : 61 Question Id : 92090612014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TNEwE O § dftd fdgH @1 ugar Sifeu|

(1) A gId 2) EgReEA
(3) XA A 4) TS aEdd
Options :

92090647441. 1
92090647442. 2
92090647443. 3
92090647444. 4



Question Number : 62 Question Id : 92090612015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first chairperson of the Press Council of India?

(1) Justice J.R. Mudholkar (2) Justice Bhagawat
(3) Justice Krishna Iyer (4) Justice Suchitra Sen
Options :

92090647445. 1
92090647446. 2
92090647447. 3
92090647448. 4

Question Number : 62 Question Id : 92090612015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR U9 ultug & uud afege) o 4yl

(1) =i of 3R geiaey (2) =araHfd WTad
(3)  OEHfd FEm 3R (4) —argEfd geEn a4
Options :

92090647445. 1
92090647446. 2
92090647447. 3
92090647448. 4

Question Number : 63 Question Id : 92090612016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book, ‘Passing of Traditional Society’ was written by ?

(1) Srinivas Melkote (2) Noam Chomsky

(3 Elihu Katz (4) Daniel Lerner
Options :

92090647449. 1
92090647450. 2
92090647451. 3
92090647452. 4



Question Number : 63 Question Id : 92090612016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR 31 SFeTa SRt [ & dud g J 8 $F 47

(1) HifFa™ Aepld (2) AW Il
(3) Ufdg drew @) SFadTR
Options :

92090647449. 1
92090647450. 2
92090647451. 3
92090647452. 4

Question Number : 64 Question Id : 92090612017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Central Board of Film Certification was established in which year?

(1) 1950 (2) 1952
(3) 1954 (4) 1956
Options :

92090647453. 1
92090647454. 2
92090647455. 3
92090647456. 4

Question Number : 64 Question Id : 92090612017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S5 thed YHIUE 918 &1 0T b a9 g8 o

(1) 1950 (2) 1552
(3) 1954 (4) 1956
Options :

92090647453. 1
92090647454. 2
92090647455. 3
92090647456. 4



Question Number : 65 Question Id : 92090612018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kesavananda Bharati Vs State of Kerala, 1973 case is related to ?
(1) Right to Privacy {2) Freedom of Speech
(3) Right to life {(4) Basic structure doctrine of the

Constitution

Options :

92090647457. 1
92090647458. 2
92090647459. 3
92090647460. 4

Question Number : 65 Question Id : 92090612018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HREFG HRdl §H Fa Td $9 FofeiEd ¥ 8 Gl ddfta 82

(1) o &1 efdsR (2) 9T WA
(3)  ©itgd BT PR (4) Hidu™ & qd e 31 Rgid
Options :

92090647457. 1
92090647458. 2
92090647459. 3
92090647460. 4

Question Number : 66 Question Id : 92090612019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the host of TV program, ‘Devils Advocate™?

(1) Rajdeep Sardesai (2) Karan Thappar
(3) Arnab Goswami (4) Raj Chengappa
Options :

92090647461. 1
92090647462. 2



92090647463. 3
92090647464. 4

Question Number : 66 Question Id : 92090612019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

colifae S H Sided Usdlde’ & AvaH ®H 87

(1 G TREdTs (2) HIOT YO
(3) 3 Tt (4) o1 ST
Options :

92090647461. 1
92090647462. 2
92090647463. 3
92090647464. 4

Question Number : 67 Question Id : 92090612020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the following is not a news writing structure and style Identify.

(1) Hourglass style (2) Martini Glass Style
(3) The Kabob (4) Shoe Glass Style
Options :

92090647465. 1
92090647466. 2
92090647467. 3
92090647468. 4

Question Number : 67 Question Id : 92090612020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y # ¥ $1F U YHER o S39-1 9 9ell T8l 82

(1) Yagst et () W @ et
3) CHdAW @) I el
Options :

92090647465. 1
92090647466. 2
92090647467. 3



92090647468. 4

Question Number : 68 Question Id : 92090612021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the book ‘Confession of an Advertising Man'"?

(1) David Ogilvy (2) Prasoon Joshi
(3) Prahlad Kakkar (4) Ericson
Options :

92090647469. 1
92090647470. 2
92090647471. 3
92090647472. 4

Question Number : 68 Question Id : 92090612021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3HE T Ugacigion B gEad® - ferdt o

(1) Sfas sifiredt (2) oA Rt
(3)  UgdlG habs (4) TREET
Options :

92090647469. 1
92090647470. 2
92090647471. 3
92090647472. 4

Question Number : 69 Question Id : 92090612022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which social networking site has launched ‘Amber Alert’ feature to help locate
missing children in June 20227

(1) Twitter (2) Facebook
(3) Instagram (4) YouTube
Options :

92090647473. 1
92090647474. 2
92090647475. 3



92090647476. 4

Question Number : 69 Question Id : 92090612022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # ¥ @1 9 |99 Aedfdbn |1ge A adl g 1 Udl @ J #eg & ol 94,
2022 H TaR 3@’ ATHaE RH f5an 82

1) = (2) HagH
(3) SEMMH (4) gTgd
Options :

92090647473. 1
92090647474. 2
92090647475. 3
92090647476. 4

Question Number : 70 Question Id : 92090612023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who write the book “‘We are Data Algorithms and the making of our Digital selves™

(1) John Cheney-Lippold. (2) Manuel Casttels
(3) Alexander Galloway (4) Pepe Le Pew
Options :

92090647477. 1
92090647478. 2
92090647479. 3
92090647480. 4

Question Number : 70 Question Id : 92090612023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41 3R 2T iy U8 g Aid it aar f3foed Seaw Yias &1 da- feg- far un

(1) Wi o-foes (2) Ao FEe
(3) Ucldeisx Taid 4) dudH
Options :

92090647477. 1
92090647478. 2
92090647479. 3



92090647480. 4

Question Number : 71 Question Id : 92090612024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is covered under Section 499 of [P(C?

(1) Sedition (2) Contempt of court.
(3) Defamation (4 RTI
Options :

92090647481. 1
92090647482. 2
92090647483. 3
92090647484. 4

Question Number : 71 Question Id : 92090612024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeRad 3 9 $1H TP HRA & Higdl B YRT 499 & 3idvid T 87

(1) IoEE (2) Y i HGHFT
(3) HHFBIHA (4) G B AHTDR
Options :

92090647481. 1
92090647482. 2
92090647483. 3
92090647484. 4

Question Number : 72 Question Id : 92090612025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country launched the first ‘Inhalable Vaccine” against Covid-19 on Oct 31+ 20227

(1) UK (2) USA
(3 Russia {(4) China
Options :

92090647485. 1
92090647486. 2
92090647487. 3



92090647488. 4

Question Number : 72 Question Id : 92090612025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & 4 Ty S0 7 $ifds-19 & faes 31 AgER, 2022 B YYHA UYFT TG DT (g
daH) Y famar e

(1) feed (2) HYad Ul ED]
(3 ¥4 4) dH
Options :

92090647485. 1
92090647486. 2
92090647487. 3
92090647488. 4

Question Number : 73 Question Id : 92090612026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 10 percent reservation for ex-Agniveers was announced by Ministry of Home Affairs for
which security force?

(1) BSF (2) ITBF
(3) CRPF (4) CISF
Options :

92090647489. 1
92090647490. 2
92090647491. 3
92090647492. 4

Question Number : 73 Question Id : 92090612026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HA™ A gd AR & o Fafafed o § 5w et 9a § 10 Ui e & gihon
G

(1) HiEgRan s (2) YRd fdeaa dHm &
(3) Purg oM gierd ad (4) F=ig G e
Options :

92090647489. 1



92090647490. 2
92090647491. 3
92090647492. 4

Question Number : 74 Question Id : 92090612027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first trilateral foreign ministers meeting between India, France and United Arab
Emirates was hosted by which country?

(1) USA (2) India
(3) Germany (4) France
Options :

92090647493. 1
92090647494. 2
92090647495. 3
92090647496. 4

Question Number : 74 Question Id : 92090612027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR, Wil d 9990 R4 HRIG & fagw @EE $1 yyd Bueliy gl ot fwert FafafEa o
qfpaaw =i dr

(1)  Hged T AT (2) HRd
(3) o 4 g
Options :

92090647493. 1
92090647494. 2
92090647495. 3
92090647496. 4

Question Number : 75 Question Id : 92090612028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organistation developed India's first intra-nasal vaccine related to Covid-19, with
DCG1 approvel?

(1) Bharat Biotech (2) Fizer
(3) SI1 (4) Reddy Labs



Options :

92090647497. 1
92090647498. 2
92090647499. 3
92090647500. 4

Question Number : 75 Question Id : 92090612028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Difde-19 § Galtd YRd & WYH A4S @cHod) Sid @ 31 9l off 313 & 3/ Hig & 9y
for Te A fawfia fear 82

(1) YRd d/I¢H 2) WIEeR
(3)  TH TS 3 (4) YEas
Options :

92090647497. 1
92090647498. 2
92090647499. 3
92090647500. 4

Question Number : 76 Question Id : 92090612029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under whose chairmanship has the Government of India constituted a Committee to
examine the issue of granting Scheduled Caste status to converted Dalits?

(1) Former CJI KG Balakrishnan
(2) Former CJI SN Vinod

(3) Former CJI YV Chandrachud
(4) Former CJI HN Bhagwat

Options :

92090647501. 1
92090647502. 2
92090647503. 3
92090647504. 4

Question Number : 76 Question Id : 92090612029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YHOREH HA ardl Sfeidl B ST Ffd 1 goll & qg, B oid A & [0 URd WHR A
9 T 9 gt sigeral | us afifa 1fdd 1 82

(1) HRd & gd q&1 A $ 5. SraswE
(2) WRd S gd Y& ey wa . fadg

(3) HRdF Yd g e a4l 959s
(4) HRd P Yd JET e v, YREad

Options :

92090647501. 1
92090647502. 2
92090647503. 3
92090647504. 4

Question Number : 77 Question Id : 92090612030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the sequence in which adverting production is undertaken?

(A) Execution

(B) Visualisation
(C)  Creative brief
(D) Target plan

Chose the correct answer from the options given below :

(1) (), (D), B), (&)
(2) (D). (C), (B), (A)
(3) (D), (C), (A), (B)
(4)  (C), (D), (A), (B)

Options :

92090647505. 1
92090647506. 2
92090647507. 3
92090647508. 4

Question Number : 77 Question Id : 92090612030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U= &1 (UISaeF) &1 Hel ShH B 91 87

A, [Aures

B. HFY axH

C. TEAIHS [AWgaR
D. w&g YISl

1= feu U fawedi § 9 98l I &1 904 Hiferd -

(1) CDBA
(2) D, CBA
(3) DCAB
4 CDBA
Options :

92090647505. 1
92090647506. 2
92090647507. 3
92090647508. 4

Question Number : 78 Question Id : 92090612031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ‘Development Communication’ was coined by

(1) Wilbur Schramm (2) Marshall McLuhan
(3) Nora C Quebral (4) Harold Lasswell
Options :

92090647509. 1
92090647510. 2
92090647511. 3
92090647512. 4

Question Number : 78 Question Id : 92090612031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TaPTIRS 99X Ug &1 9§ 9 fua g1 4

(1) faeaR 4w (2) HRd dddeH
(3) AR Fgea (4) e AREd
Options :

92090647509. 1
92090647510. 2
92090647511. 3
92090647512. 4

Question Number : 79 Question Id : 92090612032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to MeGuire the sequence of communication factors that would make a sucecessful
persuasion 1s

(A) Channel

(B) Source

() Receiver

(D) Message

Chose the correct answer from the options given below :

(1) (D). (B), (A). (O)
(2) (A), (B), (D), (O)
(3) (B), (D), (A), (C)
(4) (A), (C), (B), (D)

Options :

92090647513. 1
92090647514. 2
92090647515. 3
92090647516. 4

Question Number : 79 Question Id : 92090612032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHFAER & 3HR 6B YA S aiel 99K SR &1 HIHH B 9 67

A HTHH (EF)
B. i
C. Undddl
D. HeW
i fdu TTu fasmedl H 9§ Tl IR &1 99 B ;
) DBBAC
(2) ABCD
(3) B,DAC
4 ACBD
Options :

92090647513. 1
92090647514. 2
92090647515. 3
92090647516. 4

Question Number : 80 Question Id : 92090612033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : TV production is a teamwork

Reaszons (R) : Floor manager is the representative of producer in the studio floor.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

i(4) (A) is false but (R) is true

Options :



92090647517. 1
92090647518. 2
92090647519. 3
92090647520. 4

Question Number : 80 Question Id : 92090612033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i & YA GU U §: 0P ANHYA (Assertion A) T ¥9 ¥ [fEd g dl g0 39S IRO
(Reason R}%F‘? ﬂ,‘

IUFYT A - T d WISHHA @ 9HeS P o
HRUIR - e dd W ad Yaud At &1 wiaFi g gl
JURIGd DY & Hald 4, Hid 4T MU fdshedl § ¥ 988 Iugdd Ik &1 99+ Hifelg

(1)  ASRREHI el g 3K R, A P Hg! AN &

2)  ASIRREH el g Afb- R A DI T TSN S 8
@) ATSE AMFTRIE T

(4 A TEIEIE, i1 R WS B

Options :

92090647517. 1
92090647518. 2
92090647519. 3
92090647520. 4

Question Number : 81 Question Id : 92090612034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Gandhiji started the paper ‘News India’ to inform, educate and

motivate people

Reasons (R): Gandhiji was not only a freedom fighter but he was also a great

journalist

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090647521. 1
92090647522. 2
92090647523. 3
92090647524. 4

Question Number : 81 Question Id : 92090612034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 31 By BT U T U U@ (Assertion A) & &0 ¥ [afGd g df Uy 99 HRU
(Reason R}aﬂ_F‘] °;

HUPYT A : Il I Gied, Ffea 9 g 31 & ferg miedisil 7 g Sfsar g7 smy
T

BRUIR : TiEfiGit 1 dhdel Uh HWidaAdl S Y SHiUd d Th HgH UADR Hi )
JWRIGd Y & el ¥, Hid fGT MU fddhedl H 8 96y Iugdd I BT 99 Difelg
(1) AJARRIHA TG ¢ 3R R, A Bl UL TS &

@  AMRRTHA HEE AP R A B UL RS 781 §

3) AGEE AfFTrREd e
(4) AGEAI g, AlbIR Wl B

Options :




92090647521. 1
92090647522. 2
92090647523. 3
92090647524. 4

Question Number : 82 Question Id : 92090612035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the name of India's first film?

(1) Lanka Dahan (2) Raja Harishchandra
(3) Bhasmasur (4) A Train coming to Station
Options :

92090647525. 1
92090647526. 2
92090647527. 3
92090647528. 4

Question Number : 82 Question Id : 92090612035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd &I YuH e &1 11 31 87

(1) TdIged (2) I eRwEg

(3) HWRR (4) U BT RIA
Options :

92090647525. 1
92090647526. 2
92090647527. 3
92090647528. 4

Question Number : 83 Question Id : 92090612036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PVGT Development Mission was discussed in the budget speech 2023-24. It iz dedicated to
the all-round development of which class?

(1) For transgender group (2) Construction workers
(3) Children (4)  Vulnerable tribal group
Options :

92090647529. 1
92090647530. 2
92090647531. 3
92090647532. 4

Question Number : 83 Question Id : 92090612036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

034 F ey AR A el mwigs i mFadaaal &
4l fasr & uid waitd g2

(1) Wl (CFaeis) 998 gd 2) Fmfo yffes
3) wo (4) SRIGE SiToTIciig §Hg
Options :

92090647529. 1
92090647530. 2
92090647531. 3
92090647532. 4

Question Number : 84 Question Id : 92090612037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Economic Survey 2022-23, India is the largest mobile phone
manufacture in the world?
(1) First (2) Second
(3) Third {(4) Fourth
Options :

92090647533. 1
92090647534. 2
92090647535. 3
92090647536. 4



Question Number : 84 Question Id : 92090612037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i wderm 2022-23 & 3R, YRd Ay & gy 931 Hiasd B Hafdar g2 gl
(ny wyH (2) ¥

(3) e (4) =

Options :

92090647533. 1
92090647534. 2
92090647535. 3
92090647536. 4

Question Number : 85 Question Id : 92090612038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is ‘Sub judice™
(1) Jontempt of Court
(2) Miscarriage of Justice
(3)  Refer to a case or a matter that is under the consideration of the court and
final judgment is still pending
(4)  Lower Court has given permission to appeal to a higher court

Options :

92090647537. 1
92090647538. 2
92090647539. 3
92090647540. 4

Question Number : 85 Question Id : 92090612038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R &1 gl 87

(1)  ATEy &1 e

(2) O F 3uded (Fgaia)

(3) UH AHd 3ual f[awg &t 3R Ydbd &l & ol Ararey & faari § ofiv sifaw fAufg
3t diferd &

4) Fach srered A Sl siered H 3idid & & o Hfd ¢ 41 81



Options :

92090647537. 1
92090647538. 2
92090647539. 3
92090647540. 4

Question Number : 86 Question Id : 92090612039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Television transmission began in which year in India?

(1) 1959 (2) 1964
(3) 1961 (1) 1966
Options :

92090647541. 1
92090647542. 2
92090647543. 3
92090647544. 4

Question Number : 86 Question Id : 92090612039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR | Caiifae Rl fhd aff # SRy gan un

(1) 1959 (2) 1961
(3) 1964 (4) 1966
Options :

92090647541. 1
92090647542. 2
92090647543. 3
92090647544. 4

Question Number : 87 Question Id : 92090612040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Bhagoria’ is a folk dance of which tribe in Madhya Pradesh?

(1) Bhil (2) Gond
(3 Satna (4) Lambada



Options :

92090647545. 1
92090647546. 2
92090647547. 3
92090647548. 4

Question Number : 87 Question Id : 92090612040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) i 2y TS
(3) gd-I (4) TSI
Options :

92090647545. 1
92090647546. 2
92090647547. 3
92090647548. 4

Question Number : 88 Question Id : 92090612041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Colour Television was introduced with Asian Games hosted in New

Delhi

Statement I : Colour Television was introduced with Commonwealth Games hosted in
New Delhi

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement I1 are incorrect
(3 Statement I is correct but Statement I is incorrect
(1) Statement I is incorrect but Statement 11 is correct

Options :



92090647549. 1
92090647550. 2
92090647551. 3
92090647552. 4

Question Number : 88 Question Id : 92090612041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090647549 1
92090647550, 2

92090647551. 3
92090647552. 4

Question Number : 89 Question Id : 92090612042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements °

Statement [ : Satish Manwar is the director of the film ‘Gabhricha Paus’.
Statement [1 :  Satish Kaushik is the main actor / hero of the film ‘Gabhricha
Paus’.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement [ is incorrect but Statement II 1s correct

Options :

92090647553. 1
92090647554. 2
92090647555. 3
92090647556. 4

Question Number : 89 Question Id : 92090612042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090647553. 1



92090647554. 2
92090647555. 3
92090647556. 4

Question Number : 90 Question Id : 92090612043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tiven below are two statements :

Statement [ :  George Orwell’'s book ‘1984 is based on propaganda

Statement I :  George Orwell’s book ‘1984’ is based on Sikh Riots

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correct but Statement Il is incorrect

(4) Statement [ 1s incorrect but Statement I1 15 correct

Options :

92090647557. 1
92090647558. 2
92090647559. 3
92090647560. 4

Question Number : 90 Question Id : 92090612043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647557. 1

92090647558. 2

92090647559. 3
92090647560. 4

Question Number : 91 Question Id : 92090612044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the first Hindi Newspaper in India from the following option?

(1) Punjab Kesari (2) Nav Bharat
(3) Hindustan {4) Udant Martand
Options :

92090647561. 1
92090647562. 2
92090647563. 3
92090647564. 4

Question Number : 91 Question Id : 92090612044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647561. 1
92090647562. 2
92090647563. 3



92090647564. 4

Question Number : 92 Question Id : 92090612045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Film and Television Institute of India is located in which city?

(1) Bangluru (2) Pune
(3) Mumbai {(4) New Delhi
Options :

92090647565. 1
92090647566. 2
92090647567. 3
92090647568. 4

Question Number : 92 Question Id : 92090612045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647565. 1
92090647566. 2
92090647567. 3
92090647568. 4

Question Number : 93 Question Id : 92090612046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Right to Information Act came into force in which year in India?

(1) 2000 (2) 2002
(3) 20056 (4) 2007
Options :

92090647569. 1



92090647570. 2
92090647571. 3
92090647572. 4

Question Number : 93 Question Id : 92090612046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) 2000 (2) 2002
(3) 2005 (4) 2007
Options :

92090647569. 1
92090647570. 2
92090647571. 3
92090647572. 4

Question Number : 94 Question Id : 92090612047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was appointed as the first Chief Justice of independent India?

(1) Mehr Chand Mahajan (2) A.R. Sarkar
(3) Bijan Mukherjee (4) Hiralal Jekisundas kania
Options :

92090647573. 1
92090647574. 2
92090647575. 3
92090647576. 4

Question Number : 94 Question Id : 92090612047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647573. 1
92090647574. 2



92090647575. 3
92090647576. 4

Question Number : 95 Question Id : 92090612048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Union Ministry has launched the Mission Antyodaya Survekshan 2022-23 on
9th February 20237

(1) Ministry of Information and Broadcasting
(2) Ministry of Electronics and IT
(3) Ministry of Agriculture
(4) Ministry of Rural Development
Options :
92090647577. 1
92090647578. 2

92090647579. 3
92090647580. 4

Question Number : 95 Question Id : 92090612048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647577. 1
92090647578. 2
92090647579. 3
92090647580. 4

Question Number : 96 Question Id : 92090612049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Commercials on Vividh Bharati were introduced on Akashvani from

(1) 15t Nov 1967 (2) 1%t Nov 1969
(3) 15t Nov 1970 (4) 1= Nov 1971
Options :

92090647581. 1
92090647582. 2
92090647583. 3
92090647584. 4

Question Number : 96 Question Id : 92090612049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  19dax 1967 (2) 1 ¥dd 1969
(3) 1-dsX 1970 (4) 1-d€ 1971
Options :

92090647581. 1
92090647582. 2
92090647583. 3
92090647584. 4

Question Number : 97 Question Id : 92090612050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first joint military exercise FRINJEX-23 between the Indian Army and the French Army
was held in which city?

(1) Mumbai (2) Puducherry
(3) Chennai (4) Thiruvananthapuram
Options :

92090647585. 1
92090647586. 2
92090647587. 3
92090647588. 4

Question Number : 97 Question Id : 92090612050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090647585. 1
92090647586. 2
92090647587. 3
92090647588. 4

Question Number : 98 Question Id : 92090612051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of the book ‘Precision Journalism’, considered by many to be the
founding text of the data journalism and computer assisted reporting?

(1) P. Bradshaw (2) E. Coates
(3) Philip Meyer (1) M Moore
Options :

92090647589. 1
92090647590. 2
92090647591. 3
92090647592. 4

Question Number : 98 Question Id : 92090612051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647589. 1
92090647590. 2
92090647591. 3
92090647592. 4



Question Number : 99 Question Id : 92090612052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to data released by the IMF, which country’s economy has become the fifth largest
economy in the world leaving Britain behind?

(1) Israel {(2) Japan
(3) India {(4) Russia
Options :

92090647593. 1
92090647594. 2
92090647595. 3
92090647596. 4

Question Number : 99 Question Id : 92090612052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647593. 1
92090647594. 2
92090647595. 3
92090647596. 4

Question Number : 100 Question Id : 92090612053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who said ‘Comment is free, facts are sacred’™?

(1) Thomas Jefferson (2) C.P. Scott
(3) [V Lee (4) Joseph Pulitzer
Options :

92090647597. 1
92090647598. 2
92090647599. 3
92090647600. 4



Question Number : 100 Question Id : 92090612053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090647597. 1
92090647598. 2
92090647599. 3
92090647600. 4



